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H | 40 CH 77.3 20.5 g | iFholet 81.7 18.3
50 CH 71.9 26.4 o | Mot 92.5 7.5
60 CHf oA 65.7 29.0 Qlg/n= 55.7 37.0
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[ SEX S48 EM%) ]
= o = =
Ea | e | ghE | me | BOlR | ZERY | et | manc
x| 41.1 8.7 3.7 0.8 8.0 1.4 29.6 8.7
Hod M2/218/47] 41.4 8.4 4.3 1.1 7.4 1.2 30.6 5.6
i/ SE/ME 47.9 9.6 1.6 0.0 8.5 0.0 27.2 5.1
/S 54.9 0.0 2.1 2.7 9.8 1.7 18.1 10.8
4= 26.5 14.8 4.5 0.0 48 2.6 35.9 11.0
SiEde 36.9 1.2 3.6 0.0 7.5 2.3 31.2 7.3
ZRA/HT 39.2 6.3 37 0.0 18.7 0.0 30.3 1.8
ad L 39.1 9.0 4.9 1.3 6.4 1.5 32.2 5.6
Ok} 43,1 8.4 2.5 0.3 9.5 1.3 27.0 7.8
b 19-29 A 32.4 3.5 3.0 0.4 48 0.9 40.6 14.3
30 Cf 50.5 2.9 1.9 1.6 6.5 0.0 33.7 3.0
40 CH 48.0 4.2 3.1 0.9 12.9 22 24.8 39
50 CH 39.8 1.8 49 1.4 1.5 0.9 26.5 3.1
60 Clf 0|4 36.6 17.1 48 0.0 4.4 2.4 25.7 9.1
Rl S/ 36.1 23.5 1.7 0.0 8.2 0.0 17.0 3.5
NI 36.2 9.1 53 20 8.0 1.3 34.6 3.5
=&FZet 40.7 1.5 43 0.0 5.0 3.9 26.4 8.1
So|EZzE} 443 3.9 1.7 1.2 11.6 0.3 33.4 3.4
EFE 46.7 10.2 3.8 0.0 8.6 1.1 19.3 10.3
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[ SEX E4E M%) ]
3ot OH-ICt =t OH-IC}
| 44.0 49.1 K| 44.0 49.1
| NE/%/47] 479 457 | s/LY/oY 31.0 57.0
g | Ch/BE/MB 36.5 53.2 | ArEY 424 53.5
4 | /A= 62.3 29.6 | g2at 47 .4 488
-/ 4= 28.3 66.7 IlO|EZEt 55.0 393
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| 30CH 52.0 419 o | 20 33.4 66.6
H | 40 CH 57.8 39.6 g | DiFgolet 55.4 44.6
50 CH 50.2 460 g | ™ol 61.1 32.8
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A 59.0 36.5 A 59.0 36.5
o | N2/0%H/47] 58.4 38.3 | s/ 69.2 26.7
o | ™/ BSE/MB 44.7 29.0 | ArEY 58.3 40.7
g | FFNY/HE 41.0 50.1 | 2222t 53.3 38.6
7/ 4as 68.8 28.7 lo|EZE} 55.0 43.8
HAygiy AL 61.9 32.4 IPeEE 65.0 26.8
ZR/AF 60.9 36.7 ohd 69.4 27.0
o | YRt 56.7 39.8 2Zl/7|E} 61.7 32.2
2 | ox} 61.3 33.3 Xl | cEofi=e 493 46.7
| 19-29 M| 74.6 21.6 x| | Rkee=g 79.7 16.3
| 30CH 60.0 38.6 g | HE0 59.9 36.4
#4004 47.7 49.1 g | DIEEsIE 39.8 60.2
50CH 53.2 40.4 8| Mol 39.8 58.6
60 Cff o4 61.3 32.4 Sle/me 69.1 25.0

= CEUMoE U diMe QHEICYE YR p /B E/MB(64.7%), Th/E5(68.8%) »20 CH(19 Al

St

E3H(74.6%) P 7FEFE(65.0%), d(69.4%)

(79.7%), F25(69.1%)0M E3| =U2.
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=7 LIEHE.
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, V' HlQICH 56.2%

Q 7| SHo| Arzisol= ZHA O|RHIQ} H|WBIH OBELE
Ol Ljop&ICH 14.4%
2 Eept Sl 56.2%
O LHbPECE 28.9%
D272 0.5%

m A 0| Riiel Hlulsh 800 *E Bisht Gitt= SEO| 56.2%2 7HY =7 LEH 742,
‘E LIOHNCHE SEH2 14.4%, ‘O LWRCHE SEH2 28.9%=2 TAHE. & 7 &5 20022
o)gt &58°| ' LHNCHE SHO| TM SHEM JUXH22 =O0K1002H O[5k 41.7%,

101~2002H: 35.3%), 50| {2 ASL+E Mz E717t Aot U= A= LEH.

o H 5t =] =] H S5t =
L{opxict eict LRSI L{opxict oict LRSI
A 14.4 56.2 28.9 A 14.4 56.2 28.9
| ME/Q1H/E7] 15.1 57.9 26.4 I | S/ 30 57.7 39.2
o | od/BE/MT 18.2 55.4 25.4 2| A 9.5 46.3 44.2
| /e 19.2 57.8 23.0 2 | 28zt 12.8 53.4 33.3
/&5 7.0 55.5 36.8 3l0|EZ2} 24.1 56.5 19.5
Biy2i/4e 1.5 48.6 39.3 PAVSESC 8.2 57.3 34.5
ZR/AF 14.3 62.2 23.4 SH 18.2 64.5 14.1
g xRt 15.1 54.2 30.0 2E/7|E} 8.6 63.5 26.1
o | ok} 13.7 58.1 27.7 | 2 | 100 2HA O[5t 7.7 495 41.7
A | 19-29 A 19.2 62.3 165 | 5 | 101~200 2t 9.5 55.2 35.3
2| 30CH 18.8 59.7 21.5 H | 201~300 2+ 12.5 57.0 29.9
H40CH 16.8 54.0 28.6 301~400 2 17.5 57.0 25.5
50 CH 14.5 48.6 36.4 401 2K O4 17.5 58.4 240
60 Clf Of&t 6.4 57.2 36.3

= 0 HOIECI= »2H0|EZEN24.1%)0M STHIH = =2 LIEH.
= g e} QItFE » 20 TH(19 MZR)(62.3%) B Hd(64.5%)0M E3| =S,
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[ SEX S48 EM%) ]
A== Ue Helo|Lt HH Ho|Lt

A& F=7 4 =™ H|7|

s 22.2 53.2 18.3

Hod ME/01H/47] 22.8 553 16.7
CHS/BH/ NS 228 50.6 17.5

A HY/HE 29.2 50.3 1.3

&5 1.5 578 23.6
Biy2i/4e 23.2 449 25.1

ZR/AF 18.9 60.1 19.0

ad X} 23.4 50.1 22.2
OJx} 21.0 56.2 14.5

e 19-29 A| 16.5 60.5 12.0
30 CH 25.6 55.4 16.6

40 CH 28.8 53.0 15.9

50 CH 22.3 52.0 21.9

60 CH OfA 18.6 478 22.8

et S2/g/od 25.8 35.8 25.5
g 18.1 46.9 32.7

=5zt 19.1 53.8 18.0

lo|EZE} 29.0 53.5 15.8

7R 19.1 55.8 14.5

SHl 12.8 66.2 9.0

£2/7|Et 240 51.4 17.8

A5Y 100 2+ Ofst 25.8 33.7 16.6
101~200 2H 19.8 58.6 14.6

201~300 2+ 16.6 54.4 24.7

301~400 2+ 22.7 63.3 12.9

401 TH Of 24.8 53.2 19.5

E2Y |3t 28.9 60.1 5.5
o SEEt 4.2 33.8 56.9
XIX| Gi=0{2ig 34.4 55.6 57
e =g 8.9 437 42.3
HFE0[2HS 11.0 52.3 36.7

DIEale 30.8 29.4 30.6

ol 25.4 65.4 6.2

ole/m= 12.0 51.7 26.5

= YR HIAOLt £ XTEE2 p20 CH(19 M=

AEE(58.6%),

301 gt

X|X|%(65.4%)01M E3| =

4
5
rg

ol

=k
255

=

SH
=

(63.3%)

=

AR AL =R p2/TE2K29.2%) »40 [f(28.8%) »30|EZEH29.0%) » HEO
X|X|Z(34.4%) 0 ATHEORZ =7 LIEfL

o
23

=C
=g

)(60.5%) »EHY(66.2%) »101 TH-200 THY
S'EH7H5(60.1%)

» el

THOILE 7= » U7/ 85(23.6%), FL/2M/8E(25.1%) »AER(32.7%) »201 ZHA-300

A AEB(24.7%) »HSE EHEIES(56.9%) »ARSH=ET X|X15(42.3%),

dUH2= =7 LIEH.

=]
T oo

(26.5%)01lA
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10. #2| A SE 1t

X 2 3N, LXiE] 2HeE 28 %) 29.7%

Q oI 22| FHZE A 7ty 2 ERlE T § FA0R BEMUR
Uxta| BHet G 2t 29.7%
AS 2t Y38t et 21.8%
KA D2 QI3 Dj2f 4% 53 ot 18.4%
T IS QI T Eot 14.6%
01 5= 2 o™ & =6 84 25 5.6%
2T AHR QA Al MY Qi 5.0%
7|E} 2.3%
Y/ mEZcy RS 2.5%

m oA R ZX7E Aot 2H 2 ‘2RI EXIRE 18 9K(29.7%) 7t 7+

ru
A

Ao Z X|FLIYS.

B AE 2 LS ARl 21.8%E 2w LIERRH, "MELM g

21(18.4%)’, ‘Hat 2522 Qg F 22K(14.6%)0| 1 FIE LS.

m 20CHet 500 Oy HHE2 “Yi2| =Mt 18 AVE ZH T uHzE 53| =4 &1 A0
0E W F Yol Tl o DIsHA| BRE3St A2, 30~400] HHE =
=2 BHZ2 &1 A0{(30CH: 27.4%, 40CH: 28.2%), Ol SHZ2 Atz| 24 2Aof CHsli o

FHola = A= LIEH.
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=4(%) 1

o HEY U 02 ER | e
2UX}2| A= 7+ -TI—_F_'gS’-I'E J=oz | 7} DX 7ﬂ|"c'>'__'FI"I'"E
2% I8 oadimet| Ao WM | osizA | 5 am | af A
oS oaﬁ:o} o} EAMZIE MA 2=
A 29.7 21.8 18.4 14.6 5.6 5.0
Hod ME/o1E/47] 27.9 220 17.2 17.9 57 4.5
CHE/ BSE/MIE 323 19.8 20.2 1.2 6.7 6.1
S/AE/HE 23.4 25.5 24.3 10.9 2.8 2.5
&5 38.4 20.9 13.8 14.7 58 4.5
A28 36.2 19.8 17.5 6.2 7.0 7.9
ZR/AF 12.8 26.4 27.4 24.7 2.4 43
a4 X} 32.5 19.6 19.8 10.0 6.0 6.6
O X} 26.9 24.1 16.9 19.2 52 3.4
ol 19-29 A 39.2 15.8 14.8 15.9 4.1 5.7
30 CH 19.7 27.4 19.7 21.9 3.8 3.9
40} 25.1 28.2 19.9 10.3 7.2 6.8
50 CH 32.2 19.0 17.9 15.2 7.8 3.6
60 Cff o4 31.4 19.5 19.0 1.9 49 49
s S/ 34.0 20.5 22.3 55 8.9 47
INRE R 30.1 24.0 20.2 10.0 3.9 6.3
=52et 29.9 23.0 15.5 17.7 6.6 3.1
sjo|EZz} 21.8 26.4 20.3 15.8 59 7.5
7R 29.6 18.1 17.0 18.8 6.5 3.5
SHl 44.9 16.6 14.1 12.6 3.7 5.4
SF2/7\Et 37.5 15.5 19.7 10.4 3.9 2.3
A5Y 100 2HA O[5t 34.0 12.9 20.4 13.2 7.5 0.5
101~200 2+ 24.4 20.6 26.2 15.8 48 2.3
201~300 2+ 34.2 19.5 15.5 16.5 43 8.1
301~400 2t 26.7 26.5 14.3 19.6 5.8 2.3
401 2H Ol 27.0 243 18.9 12.9 6.9 7.2
IE2Y | 3EY 25.3 25.3 21.0 15.5 5.4 3.1
714 SHEt 40.9 13.6 11.6 13.0 6.1 10.3
XIX| Gi=0{2ig 230 27.2 21.1 15.5 5.7 2.5
g eek=g 44.5 13.4 17.6 1.2 6.2 58
HFE0[2HZ 25.2 20.2 19.4 15.1 12.4 38
DIFE|et 12.3 9.4 24.6 18.5 9.2 26.0
Yozt 29.5 31.2 21.2 1.1 3.0 3.1
olo/m= 343 15.6 14.9 15.4 49 7.9
o CUXIZ| ZHQF 18 ol p LT/ AEE(38.4%), FA/2AAE(36.2%) B20 CH(19 MIZEH(39.2%)
p SH8(44.9%) p2HRY SHEIIE(40.9%) b AFSHRE X|X|5(44.5%)01M E3| &AL,
= AZ 7H Y33 M= p40 TH(28.2%) »HENTFE X|X[5(27.2%), HolT X|XIE(31.2%)0lAM
MEo= =7 LIt
= CNEM DHE Qo D2iEY S Azl=p EF/T12H24.3%) » 101 THA-200 BH A55(26.2%)0llA

dUi¥ez =7 LIEME.
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e

ZFEl BT B 44.7% vs. ‘FTE =2 2AX|' 44.2%

M2t =2H & £34 i XYool HgtS eFEAIZ 7| fl6 O 2ub&Ql CHM2 ChE &
Zojo|gtn ALk
Al BHX| JHY, EA THE S2 ST T S5 2 44.7%
Ze BN YA Zelor TiE 7R 52 St 7 42 ol 44.2%
DEACYESE 11.1%
B 234N 0 X|9o| HZ eFEAIZ|7] fIgh 2ubAQl CHMo = X7 EM U S FH F
o2 SCHSHOF BHC= 9|70 44.7%, "ERAMl B LA L3Rt CHE X S22 T =88 o
X|sHof SICF= 9|740| 44.2%ZE O}20| H|s=5|A| LIEFS
m FEHE oot HHo w2t Hit FE2 fIot 2Rl Ao Cigt 2|740| AZZ|n AUS. F
B 352 SCHSHOF BHCh= o2 B AQXIR} 60CH OO MUIMOZ ZUCH, FEH =Q
£ AX|SHOF BtCt= 2|42 B4 H|AF ARt 20CH~40CHOA =A| LIEHE.
[ SEX E4E M%) ]
FE 3 il | == e AN TR B e | FE e o
| 44.7 44.2 K| 44.7 44.2
H | ME/oF/E7| 46.2 44.1 A | s/ oY 343 40.7
9 | t/BE/NE 40.5 46.3 P E: [ 55.0 36.9
8 | /e 31.6 55.5 H | 222st 4238 43.6
i/ Ee 458 40.1 slo|EZR} 45.6 48.8
HA/SAY AL 49 4 39.1 P eSESEN 40.8 43.2
ZE/HT 491 42.1 Sh 37.4 54.6
g | g Rt 477 42.1 F&l/7|Ef 459 38.8
| o%} 4.7 46.4 4 | 100 2 O[&} 41.5 36.7
A | 19-20 A 41.1 50.4 £ | 101~200 2t 48.5 4.5
o | 30CH 414 49.7 % | 201~300 2+ 420 46.7
2 | 40CH 45.] 49.6 301~400 T+ 43.3 449
50 CH 41.6 44,5 401 221 o[} 46.9 479
60 Clf O|& 51.4 32.1 ZEEH | ZREM ¢% 479 40.6
A5 | FEH H|A 38.3 51.5
= CEEXTHE, HS 52 St FE I35 = p 60 M0[A(51.4%) » AFEY(55.0%)0M EB| U2,

= CHIN-SZAM 2Rt UiE M §2 8t T 8 A= »ET/T2K55.5%) »20 CH(19 Miz=Zgh
(50.4%), 30 CH(49.7%), 40 CH(49.6%) P SHH(54.6%) B FEHH|ARE(51.5%)00A ALiEoz =4
LHERE,
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12.9-13 CX S MU

9-13 CHM, “C71H Zap AKX, 22 = Z 20|Cl 50.3%

MEE= K| o2l 13 CHEFEIXIRE 17t FEH AQXI0| JHIESAMME A5, CHEEE
AR B2 549 138 AfAel Rt HE UES skl Fsit HiMsS
LEAYSLICL O YE CiMo] Bzt mE X|9o| &gt eFgo| =ut s A=

LR
7Mooz Tl eFEEl= matt S ZAo|ct 25.0%
CHOIMog 2utt UKD, QEf7HK| Zek Zo|ct 50.3%
Ol 55 2 28 of Yits o 45412 Aot 17.3%
Ry FSHE 7.5%

B 9-13 CHMO[ "BV |IHe = it QX2 e|7HK| fE A'0[2k= 2|70] 50.3%2 nHEHo[ix, Y

Moz Hegk P80 =7t AS AOICEr=s SEARE 25.0%2 HIEZ ZALE(RIS.

>\I

[ SEX S9E M%) ]

-

ZIZH0 i o X710 o o
oL | B TgE O oL | B e
wapr | 287 | dSAE Sapr | 2P | dSAE
2 e Y S T
= 7" pyy—} 71

S| 25.0 50.3 17.3 | 25.0 50.3 17.3

| ME/o1F/47| 25.2 493 19.7 A | se/Yg/oY 29.8 470 12.1

A | i/ BSE/NE 19.6 56.7 14.9 | ArEY 24.2 53.0 19.1

g | AF/HE/TE 35.3 497 6.6 g | EFZet 25.6 52.5 14.4

/4= 21.8 46.0 22.5 Slo|EZE}L 30.4 479 18.4
HAygiy AL 220 52.1 15.3 IPeEE 15.5 539 15.9
2/ 29.7 499 15.5 SHl 16.8 60.7 16.8

o gxt 25.5 51.1 17.6 B2Xl/7|Et 29.0 38.1 20.7

H | ofx} 24 .4 49 4 17.0 2 | 100 2kl O3t 21.7 37.3 21.0

& | 19-29 M| 18.6 59.9 16.1 £ | 101~200 2t 25.4 42.5 20.9

| 30CH 27.9 46.1 22.0 2 | 201~300 2+ 22.7 58.4 12.1

B | 40| 31.2 47 .8 16.7 301~400 2+ 27.3 52.5 15.2

50CH 25.4 51.2 17.4 401 T+ O[S} 28.4 50.7 18.4
60 Clf o]t 22.2 47.6 15.5 TEH | FEH AR 24.9 50.4 17.8

AS | ZEH HAS 25.5 49.6 16.6
o YUHe=E [t el =Bt UE A2 pEF/H2K35.3%) »40 Oi(31.2%) »=H2IY

SEE75(31.1%) »EHE0TFY X|X|5(36.6%), ST XIXI5(31.4%)01M STE2 = LIEH.

= CEIEHo=Z Tuh QJAXITH 2Ef R A A2 pUN/BSE/MB(56.7%) »20 LH(19 MIZEEH(59.9%)

=2 A
> SHH(60.7%) 201 2HI-300 2HYl A55(58.4%) B RHE(55.4%)00A 53| &S

= Vg £5 dds St TS O 4SAIZ A2 pUT/ES(22.5%) »aERY FEE7I5(32.4%)
A

> AFoRE XIXS(32.7%)0AM Moz =2 LIEH.

I
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S|~ Iy
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of | ®D W gl
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20 o | o | wl| oI
H| X X | 3

of gietom "

H|- 80| 34.9%2 715 =0, ‘M QT AlZA| 74

st
2!

1
Ho

o

KF

t0] 21.5%2 FHMZ = LIEtH.

=1 e]
O -

=13
=

8

" Yol 7t

N2 HERA|L 7K

Lt
| Y

D2 (LTS Y

S0l

Ol20| O =A L&t
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—

78 330] 0|20(X|Z B2}
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M LS o Mg HeHEx|Y e
sezems | MEemasd | RIS | Gpigce
st = REX EE UL S|
A 34.9 21.5 18.9 12.4
s M2/21H/E7| 36.8 21.5 21.2 10.9
CHS/ B/ NS 40.3 17.9 13.3 17.1
AT/ S 27.0 25.0 17.8 15.3
/4= 28.3 21.3 15.3 14.0
Fiy2y8E 345 21.0 18.1 12.7
ZH/AE 35.0 24.4 22.1 4.9
g4 = 33.6 23.4 18.1 14.5
O X} 36.2 19.6 19.8 10.3
olgd 19-29 A 39.3 27.7 11.4 11.0
30 CH 34.2 27.7 18.0 10.1
40¢Cf 32.8 25.3 23.7 9.6
50 Cf 379 17.9 18.6 12.4
60 Clf Of&f 31.7 13.0 21.3 17.0
et S/ 29.9 21.4 7.3 20.4
N R 32.1 23.6 14.5 19.4
=5zt 32.4 20.9 20.9 1.9
Slo|EZE} 41.8 22.5 20.7 8.1
PR 32.5 11.4 23.4 13.6
SHl 39.1 29.5 10.6 9.0
2E/7|E 27.6 26.3 19.0 13.0
A5Y 100 2K O[St 27.0 10.4 14.4 19.6
101~200 2 30.8 17.3 23.9 15.6
201~300 2+ 39.9 18.1 14.7 15.7
301~400 2t 36.4 27.5 17.8 8.6
401 B+ O[5} 36.6 25.4 19.8 10.9
ZEER ZEh A0 340 21.8 18.4 12.3
A4 ZE H|AQ 36.3 20.9 20.3 12.8

= COAZREECHZARH) LR SHE »AISR(19.4%)0IM S22 =A LIEH.
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[
P
ok
12
OH
il

S CjxH S}

|

A BHXILE TZHE XS0l 7| =29t X20| S2|HA| R4H0| &5 Z0|ct 51.2%
QUZo| FEKS A& ZZE AO|2te ASE F7| WE0| RZHo| FYE ZHo|ct 35.6%
DEACyRSH 13.3%
B HEO| FE ZZ Srf MO Z At EHXILL XZHE K|S0 7| &0t XI20| S2{ TZH0| A

g A0l2ks 3EO| 51.2%= MHtoz LEIGOoH, "Qao| FES A& S5 Ao2ks d=

7| 20| Tetol FgdE A'0|2ts 2|A2 35.6% HIEZ TALE(RUS.

i M5 Tk ord i M5 iz o

| 51.2 35.6 A 51.2 35.6

| MS/018 /47 53.0 36.3 | s/Y/od 36.8 45.0
o | /B H/MNE 58.1 31.6 I IPN °: 1% 53.1 35.8
g | /e 36.5 44.3 g | 2Rzt 46.3 38.1
/&5 52.4 29.9 So|EZE} 53.1 37.8
B4 51.1 31.7 IR 493 31.2

PAL 1Y) = 439 44.4 SHA 69.2 25.2

a | gxt 51.9 37.1 F2/7|E} 46.5 37.0
2 | ofXt 50.4 34.0 4 | 100 £+ Ofst 32.7 44.]
& | 19-29 M| 67.0 248 £ | 101~200 2+ 47.5 37.4
| 30CH 55.4 313 2 | 201~300 2t2! 58.8 28.5
H | 40CH 45.0 44.1 301~400 2+ 449 42.7
50CH 54.8 333 401 K O[s} 54.5 37.4

60 CHf o4 39.4 40.9 FEH | FEH AR 50.2 36.1

AL | FTH HAS 52.9 34.8

o Al EAX|LE XEHE X0 7] Q91 X}20| S2|HA TZ0| ALT S p CiF/EH/ME(58.1%)
P20 TH(19 MIZ2H)(67.0%) B34(69.2%) B201 BH-300 Pt ASH(58.8%) PAFRY
SEEII5(62.3%) »RHE(59.1%)01A E3] £242.

o CYEo| FEHS A& ZFTt ZOolgks AISE F7| MIR0| TZ0| OFHE 2 p AZT/MEK44.3%)

[m]

=
T XIXIB(44.9%), Holg
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15. F 52A1ZF 228 =23}

F 52A2t

Kk 738 1228 F52A12E Z2A7F AR QSLCE Of M=ol =uh & o o[
Artn 24LR

22AP} EU298 o6 R} €30| B0 1, NS MM RIS A= B R
g =t o 3t

SExtol T =EAZI0| BOIST, 1 YRS MYl o MR WmaE
Ascle £ 28X Zpt ac

DEACY RS 7.2%

B AR ESAKSROIEZENME 378, FEE7Pt it 522 HEReL, 2I3E 1830t
ote A SY SAKOIME 28 B7KH69.2%)7t 53| = HErE.

[ SEX £8E 24(%) ]

R 38N - 38y
2Pt 3act | zaptact =Pt 3ct =P} arct
A 56.2 36.7 A 56.2 36.7
H | M2/01F/47| 55.2 39.1 | s/ 74.2 19.5
g | Ch/BE/MB 55.9 36.6 2 | ArEY 69.2 28.6
4 | /Y= 46.1 42.5 o | 282t 59.7 343
/4= 65.4 27.8 slo|EZE} 448 471
BA/2AM/ AL 60.7 30.7 Pl ESESS 59.1 29.8
ZR/AF 53.2 38.0 shd 55.5 40.9
| Rt 59.4 352 F2/7|E} 55.4 35.1
2 | ofxt 53.0 38.2 2 | 100 2t ofs} 59.0 26.8
A | 19-29 A 53.5 43.1 £ | 101~2002t2 57.3 39.0
2| 30CH 47.5 45.0 H | 201~300 2+ 64.6 30.9
| 40CH 490 45.1 301~400 22l 60.6 33.3
50 Cf 61.6 31.2 401 2+l O[5} 51.0 43.2
60 Ci OfA 65.0 24.6

=1 B
= Yz da, 2" BF

I

S 78N =t o 3tte pUY/ES(65.4%) »50 CH(61.6%), 60 Mol
(65.0%) PASR(69.2%) »201 TA-300 T £55(64.6%) PARYLS FEE7H5(82.6%)
P AFE=E XIXIS(76.9%), FEE5(66.4%)0IM S5 =RU3.

2 CoEARFZA, 2R #E S 38N gt O Atlre pEF/THEH42.5%) »20 CH(19 MIEEN(43.1%),

30 CH(45.0%), 40 CH(45.1%) pSI0|EZEN47.1%) p401 THAO|M A5F(43.2%) »=H=2Y
SHEIES(46.0%) » HEODIFY X|X|5(50.3%), Yol X|X|5(46.9%)00A ATHMOZ =7 LIEF.
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16. 20204 XMUY=

20209 XKUY,

40.2% vs. ‘2l

2’ 53.9%

B2l 2020EH2]

WNEE

LHEE XX QZe 238 75300} 109% @2 83500 = 00| A™SHSLICE 1 CRF2
e Ol =Fo =2 AFE|0{OF St EAMLIR

8350922 =4 40.2%
8,350 Z1t~9,000¥ OfTt 25.4%
9,000 Of2f~10,000% OfTt 19.1%
10,000 Of&f 9.4%
PEHCYESE 5.9%

20204 EXXMRAUFZ 20194 X[

B XU ST

—

o

2l&fsio

-r

25.4%2 7P =%, 9,000 O]

O[] &AH ZAEIRAS.

8,350 F SZAG|OF SIt= 2|740| 40.2%ZE LIEHGT,

CIYES WL 8,350% Ol ZdHOf ottt 2|740] 53.9%= = LIEt

=K

,3508 =1t 9,000 O|PteZ QIAs|oF SiCh= 2|740|

0,000& O|2t0| 19.1%, 10,000& O|&0| 9.4%= FE
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g3sogioz | 83508 zm | 9000 E O3 oom | EEFCH
%74 "9,000% U|?_|' ~ |:']||E|_|- = 10,0001 |o /I=I ol:l-
A 40.2 25.4 19.1 9.4 5.9
HodH ME/Q1H/E7] 40.2 25.8 18.9 10.4 4.6
O/ ZH/ME 37.0 18.8 29.6 12.3 2.2
/= 35.1 31.1 16.7 6.3 10.8
/&= 52.9 23.2 8.9 7.3 7.8
Sy 2yde 37.7 24.7 19.9 9.3 8.4
2T 38.1 33.3 22.3 2.4 3.9
g4 = 42.1 22.6 19.3 1.3 4.6
O X} 38.3 28.2 18.9 7.6 7.1
olgd 19-29 A| 34.4 27.9 26.5 10.1 1.1
3004 32.2 31.2 23.5 10.3 2.9
40 .Y 37.0 248 22.5 12.5 3.3
50 CH 447 26.7 13.9 8.1 6.7
60 CHf O+ 48.4 19.6 12.7 6.9 12.4
R u S/ LY/ 58.3 16.5 1.6 7.5 16.1
PN 57.3 20.0 12.0 50 5.6
=F4et 34.4 26.3 21.1 14.3 3.9
So|EZIE} 30.0 28.9 26.5 1.4 3.2
FEFE 43.1 26.1 152 4.9 10.7
Bl 44.6 30.9 15.5 9.0 0.0
£2/7[Et 42.5 20.2 18.5 8.7 10.1
A5Y 100 2t O[5t 44.5 21.7 9.0 9.5 15.3
101~200 2+ 38.8 20.4 20.0 12.3 8.4
201~300 2+ 45.8 23.2 20.5 6.6 3.9
301~400 2+ 4.7 26.0 17.2 10.5 47
401 KA O[5} 38.4 29.5 21.5 9.0 1.7
E2Y | 3EEt 33.7 29.1 22.8 10.8 3.6
o SHEt 60.0 15.4 9.9 53 9.3
XIX| Ci=o{nlg 31.4 29.8 240 1.0 38
e e 61.5 14.1 8.0 3.4 13.1
HEE0[2H= 58.9 24.2 11.6 0.0 53
RlesEolt 427 17.1 21.7 18.5 0.0
ol 31.3 31.4 23.5 12.9 0.9
olg/nz 44.5 22.8 16.3 8.9 7.5

= '8,350 Y02 ZASHOF SHt= p LT/ BE(52.9%) »60 Ml0|AH(48.4%) » AtAR(57.3%) »201 THel-
300 Tl A535(45.8%) »IH2Y FHEIES(60.0%) »ARSHY XIXI5(61.5%) »FHARS
(46.1%)0M B3| /U2,

= 8,350 ¥ X1t 9,000 ¥ 0OEteE ZFEOOF sHb= pEF/T2K31.1%) B30 CH(31.2%)
> SHd(30.9%) B2 X|XIB(31.4%)0IM MTHECE =2 LIEHH.
= '9,000 ¥ Ol4 10,000 ¥ O|Fte=z ZFw|0{OF BiCt= p CHN/SE/MB(29.6%) »20 CH(19 Alz=Eh
(26.5%) »2I0|EZEH(26.5%) P FEUH|ARE(24.5%)01M HTHH o= = LiEH.
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